WILDRIDGE ASSEMBLY INSTRUCTIONS

P URVEYORS OF QUALITY POLY FURNITURE HERITAGE TWO-TIER
LCC-120

_— END TABLE
330-893-4212 « www.wildridge.com

Required Tools:
- Mallet/Non Marring Hammer

(Do not use Metal Headed Hammer)

- 7/16"Wrench or Socket

Hardware:
-(8) 1/4"x 2 3/4"Bolts
- (8) 1/4" Flange Nuts

Parts:

A = (1) Table Top
= (4) Table Legs
= (1) Shelf

Step 1

Lay the table top (A) upside down on a soft surface, as shown.
Using (1) 1/4"x 2 3/4" bolt and (1) 1/4"flange nut per leg, attach
each leg to the table top through the holes provided. DO NOT
TIGHTEN FLANGE NUTS AT THIS TIME.

Step 2

Using (4) 1/4"x 2 3/4" bolts and (4) 1/4" flange nuts, attach the
shelf (C) to the legs, as shown, through the holes provided. Making
sure the table is level, tighten all the flange nuts. Your table is now
complete! Thank you for purchasing from Wildridge.

©2017



